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— (EEXFFIKEEKR N K FRFRHNERNFXEREER

LI(KREXEEHFERMHMAERBRNERHELER

1.1.1 X¥XBENEHEF KAWL NER

BEUTHSGE VIR GFEIT M BRI FEM LR A EA ERFRAR GEENE
538 130 - 150 MR A4 GRIE REMPF L, EERXPOAR MEBRRINEXEY,
FLHEEHNRRIANSE

1.1.2 A¥FXBEAREFXAMITHENER

MEBMBE HTENARER EX LRAER BEERNEH 150-170 HEKRE
BEMSE RGBSR, REERLPOLAE MEZRNAXAY, A HEEN
WSS, I QBT 4 A HEBE AN KB

124X FHRBEFRXAPINAELFRNERNEXER

KEXRENEERKARE W B M (Part I: Listening Comprehension) : 3t 20

BB, %IRRT E] 20 43 4h. X—FBAEIER Y A 5 (Section A) FH 10 8, A& —AXE,
HF 4, 355 H —A 84, B ¥ (Section B)F 10 B, I LZHELE TR AHBZ)E,
EREA _ENEE, B8N —1 4],

W A4S — A EEEA 4 15 B A9 B, TR AR MK BT 45 Y A0 IO T P
WA BEER, RENBEENEINY 12017, &—H, BHHREUE.

1. XEWS N A EBH—BXE, A FERRATARER;

2. EEW A ANEMRER, BERARKERNRE JHE SUR%;

3. FHAEAEEBFAMANARALRACHTEE. WHEBHINEHNENAFE
EFBAKBEEHEN.

* XFhE R T RE S B#E%RK (Criterion Referenced Test) . H ki HKIE THE
EBRAERENENFERELBHERARENETER

*» AERTEBEPERNET, A AFEBN AZRESKEHHBRTOLE. 8

FERITRK
1.3 XEXFAGWTHER

Section A

Directions: In this section you will hear 10 short conversations. At the end of each con-
versation , a question will be asked about what was said . Each conversation and ques-
tion will be spoken only once. After each question there will be a pause. During the
pause, you must read the four suggested answers marked A), B), C ) and D), and de-
cide which is the best answer. Then mark the corresponding letter on the Answer Sheet
with a single line through the center.

Example: You will hear :




You will read: A) 2 hours.
B) 3 hours.
C) 4 hours.
D) 5 hours.
Sample Answer [A] [B] [C] [D]
From the conversation we know that the two are talking about some work they will

start at 9 o’ clock in the morning and have to finish at 2 in the afternoon. Therefore,
D) “5 hours” is the correct answer. You should choose answer [ D] on the Answer
Sheet and mark it with a single line through the center.

1.

A) She doesn’t say. B) Some cigarettes.
C) Some colorful dresses. D) White shirts and cigarettes.
A) Satisfied with their price. B) Displeased with their quality.

C) Pleased with modern mass-production techniques.
D) Dissatisfied with their technological complexity.’
A) He feels sorry for those students.

B) He considers the punishment excessive.

C) He expresses no opinion about the action.

D) He approves of the action.

. A) To invite the man to join them. B) To ask him to help cook.

C) To suggest politely that he leave.
D) To encourage him to have another drink.

5. A) 6:30. B) 6:45. C) 6:00. D) 7:00.
6. A) He thinks it’s too heavy a load.

B) He doesn’t care about working overtime.

C) He hates it. ' D) He minds all the overtime.
A) She hasn’t learned French.

B) She can speak several foreign languages including French.

C) She can speak either German or French.

D) She speaks neither French nor German.

A) She agrees with him partially. B) She doesn’t agree with him.
C) She advises him to be more careful.

D) She suggests that he be strict with his son.

A) His roommate stays awake all night.

B) He wants to play his recorder at night.

C) The present one is too expensive. D) He needs a quieter place.

10. A) One is copied from the other. B) They are not well written.
C) They are difficult to understand. D) Neither was written by the boys.
Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage ,
you will hear some questions. Both the passage and the questions will be spoken only
once. After you hear one question, you must choose the best answer from the four
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choices marked A), B), C) and D). Then mark the corresponding letter on the Answer
Sheet with a single line through the center .

Passage 1
Questions 11 to 13 are based on the passage you have just heard .
11. A) The workers on the underground platforms were replaced by machines.
B) It became the first completely automatic railway in the world.
C) A completely automatic line was added to its network.
D) Its trains became computer-controlled.
12. A) A platform worker. B) The command spot.
C) A computer. D) A machine.
13. A) To drive the train after it is started automatically.
B) To start the train and to drive it when necessary.
C) To take care of the passengers on the train.
D) To send commanding signals to the command spot.
14. A) It will stop automatically. B) It will move on at the same speed.
C) It will gradually slow down.
D) It will keep a safe distance from the other trains.

Passage 2
Questions 15 to 17 are based on the passage you have just heard .
15. A) It’s because there are many developing nations.
B) It’s because people use too many man-made materials.
C) It’s because we have more and more industry.
D) It’s because we are building more vehicles.
16. A) Industry. B) Health.
C) The future of our children. D) Clean air.
17. A) Man knows where the society is going.
B) People don’t welcome the rapid development of modern society.
C) The speaker is worried about the future of our modern society.
D) Man can do nothing about the problem of pollution.

Passage 3
Questions 18 to 20 are based on the passage you have just heard .
18. A) Diamond-producing rivers are located near the mountain sides.
B) Diamonds couldn’t be formed without great heat and pressure of the volcano.
C) Volcano explosions brought some diamonds up to the surface of the earth.
D) Explosions of the volcano can damage diamonds as well.
19. A) In the volcanoes. B) On the floor of the sea.
C) Under the river bed. D) At the foot of the mountains.




20. A) How Is Diamond Formed And Found.

B) Diamond—A Precious Stone.
C) Diamond Hunting. D) Diamond-Producing Countries.

1L4AXEXFACTHEMREXFRESEER

Section A

Directions: In this section you will hear 10 short conversations. At the end of each con-
versation , a question will be asked about what was said. Each conversation and ques-
tion will be spoken only once. After each question there will be a pause. During the
pause , you must read the four suggested answers marked A), B), C) and D), and de-
cide which is the best answer. Then mark the corresponding letter on the Answer Sheet
with a single line through the center.

Example : You will hear: M: When shall we start our work , Jane?

W: Tomorrow at 9 o’ clock. But we must work quickly,
for we have to finish everything before 2 in the after-
noon .
Q: For how long can they work?
You will read : A) 2 hours.
B) 3 hours.
C) 4 hours.
D) S hours.
Sample Answer [A] [B] [C] [D]

From the conversation we know that the two are talking about some work they will
start at 9 o’ clock in the morning and have to finish at 2 in the afternoon. Therefore,
D) “S hours” is the correct answer. You should choose answer [ D] on the Answer
Sheet and mark it with a single line through the center .

1. W: While the children are at the movie, I think I’ll drop into Drake’s Depart-

<

»
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ment Store and do a little shopping.

: Good idea. While you’re there, will you pick up a couple of white shirts for

me? And I need some cigarettes, too.
What is the woman going to buy for herself? (A)

: In the old days, people took pride in their work and built things to last.
: Nowadays you are lucky if they don’t fall apart before you get them home.
. How do the man and woman feel about products manufactured nowadays? (B)

: Professor Dalton caught some students cheating on the final exam and failed

them right then and there.

: Serves them right. I don’t sympathize with anyone trying to pass that way.
. What is the man’s attitude toward the professor’s action? (D)
. Well, Jack, I would offer you another drink but I have guests coming and I

haven’t even begun to prepare the dinner. Thanks for stopping by.

: Thanks for the drink. It has been nice seeing you, too.
: Why did the woman mention her dinner guests? (C)




5. W: What time does your bus leave for the office in the morning?
M: It leaves at 6:30, except on Fridays when it leaves thirty minutes later.
Q: What time does his bus leave on Fridays? (D)
6. W: You seem to have a lot of work at your office, You’re always staying late and
working overtime.
M: That’s true, but the work is interesting and fun. I don’t mind the extra hours
at all.
Q: How does the man feel about his job? (B)
7. M: Since you have visited so many countries, you must be able to speak several
different languages.
W: I wish I could. But French and German are the only foreign languages I have
ever learned to speak.
Q: What did the woman say of her knowledge of foreign languages? (C)

8. M: I am worried about sending my son to college. Most college students are so
wild nowadays.

: Only a few are. Most students are too busy studying to get into trouble.
How does the woman react to the man’s remarks? (B)

: It’s said you’re moving to a new apartment soon.

: Yes. I have to do so although it’ 1l be more expensive. My present roommate
plays his tape recorder all night long and I can’t sleep.
Why does the man want to change his living place? (D)

: Do you think both John and Jim can write so well? W: It doesn’t seem likely.
It would be difficult to write two compositions so much alike unless one of

0
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10.

them was copying from the other.
Q: What does the woman think about the two compositions? (A)

Section B

Directions: In this section , you will hear 3 short passages. At the end of each passage ,
you will hear some questions. Both the passage and the questions will be spoken only
once. After you hear one question, you must choose the best answer from the four
choices marked A), B), C) and D). Then mark the corresponding letter on the Answer
Sheet with a single line through the center.

Passage 1
The world’ s first completely automatic railway- has been built under the busy

streets of London. The railway is called the Victoria Line, and it is part of the com-
plete London underground railway.

The new Victoria Line was opened in 1969. This new line was very different from
the others. The stations on the other lines need a lot of workers to sell tickets, and to
check and to collect them when people leave the trains.

This is all different on the Victoria Line. Here a machine checks and collects the
5




tickets, and there are no workers on the platforms.

On the train, there is only one worker. If necessary, this man can drive the
train. But usually he just starts it; it runs and stops by itself. The trains are controlled
by electrical signals which are sent by the so-called “command spots”.

The command spots are the same distance apart. Each sends a certain signal. The
train always moves at the speed that the command spots allow. If the command spot
sends no signals, the train will stop.

Most of the control work is done by computers. The computers also fix the train’s
speeds, and send the signals to the command spots.

Other machines make sure that the trains are always a safe distance apart. One
train may stay too long at a station; the other trains will then automatically move
slower. So there is no danger of accidents on the line.

Questions 11 to 14 are based on the passage you have just heard .

11. What happened to the London underground railway two decades ago? (C)

12. On the Victoria Line, who does all the checking and collecting of tickets? (D)
13. What is the task of the one worker on the Victoria Line train? (B)

14. If no signal is sent from the command spot, what will happen to the train? (A)

Passage 2
Our environment is being polluted faster than nature and man’s present efforts

can prevent it. Time is bringing us more people, and more people will bring us more
industry, more motor vehicles, larger cities, and the growing use of man-made materi-
als.

What can explain and solve this problem? The fact is that pollution is caused by
man—by his desire for a modern way of life. We make “increasing industrialization”
our chief aim. For its sake, we are willing to sacrifice everything: clean air, pure wa-
ter, good food, our health and the future of our children. There is a constant flow of
people from the countryside into the cities, eager for the benefits of modern society.
But as our technological achievements have grown in the last twenty years, so pollu-
tion has become a serious problem.

Isn’t it time we stopped to ask ourselves where we are going—and why? It re-
minds one of the story about the airline pilot who told his passengers over the loud —
speaker: “I’' ve some good news and some bad news. The good news is that we’ re mak-
ing rapid progress at 530 miles per hour. The bad news is that we’re lost and don’t
know where we’re going.” The sad fact is that this becomes atrue story when applied
to our modern society.

Questions 15 to 17 are based on the passage you have just heard .
15. Why can’t man prevent the world from being polluted? (C)
16. According to the passage, what does man value most among the following? (A)
17. What does the story about the pilot indicate? (C)
6




Passage 3

The diamond is considered the most famous and valuable jewel in the world.

Diamonds were made as a result of great volcanic heat and pressure. A volcano is
a mountain with a hole in the top. When a volcano is very active it sometimes explodes
and causes great damage.

Diamonds were pushed towards the surface of the earth—millions of years ago—
by a number of great volcanic explosions. It is in the narrow volcanic pipes that dia-
monds are found. They are also found among the sand and stones of certain river
beds, and in a few places on the floor of the sea. For they were washed down the
mountain sides by the rain.

Diamonds are very rare. There arc not many diamond pipes or diamond-produc-
ing rivers in the world. During the last century adventurers from Europe went to
Brazil, because they had heard that there were diamonds in the River Amazon. Many
of these early diamond miners died of illness or were lost forever in the great forests.
But some returned home rich.

The earliest known diamonds were found in India many centuries ago. The most
recent and exciting discoveries have been made in eastern Russia. But most of the
world’s diamonds now come from the Congo, from Tanzania—which has the largest
diamond mine in the world—and from South Africa.

Questions 18 to 20 are based on the passage you have just heard .

18. Which of the following is NOT mentioned by the speaker? (D)

19. According to the passage, where did diamonds first come into existence? (A)
20. What do you think is the best title for this passage? (A)

1




Z2EXEREFN ALEEFRTHFRE Y GARNX

2.1 EXREEKRFEHIEN AL 58 B pY il A5

ATH—PRHELERELEN AEE K, RS ABE, EF5 AN B FEABETH
RIBER, KEEEN AREBAZR SN 1993 EFFHHTHERB BRI
FHZRACLIBFNLBRURE HL2ERYTERERFHFTEME, T 1995 4F
TAARTHE-HAUTRBRANFAHEY . XFNMREHS,
BXARTE_MTERANFEN: FERNEENIEANE. X—#HHERC
BRI —HAHHER—EN 1997 F 1 AFBHELERELEN AR FRAPREEM.
RAFBEHNENRREAZIEE IR EER REHE L L RBGFEENLRE
BB KT RN ABE, ERRE LT RABHAEE A EERTL FEN

2.2 HEB“IF BN % (Spot Dictation)"HIHBEER

“MERE"RHENHERBIZE. RELSH—B 120 MERABEX, KT
HI0NMEAZ K. BIERERBA—TMATF , REATH - 2IXUCKELE
FERFIAEMEEBE=E. BB CHE BEEFER LRSI E:R
MEZREASEN, ERFERFBANAZFAFRAFR M HEASK B8R
B —R— R B AW, R AT .

“Wr 5 B SO B R kR R BE S 5 T O R %M}B‘Jﬁﬁilﬁﬁo %Eii
SEREMTHBRERTHEER B L,

“HHE"EREEEENTNE M —ERNBEEEBT .

2.3 “BIF B 2 (Spot Dictation)"HERREES X ER
2.3.1 M " E MW= (Spot Dictation )" # M

Directions : In this section , you will hear a passage of about 120 words three times. The
passage is printed on your Answer Sheet with about 50 words missing. First, you will
hear the whole passage from the beginning to the end just to get a general idea of it.
Then , in the second reading, you will hear a signal indicating the beginning of a pause
after each sentence, sometimes two sentences or just part of a sentence. During the
pause , you must write down the missing words you have just heard in the corresponding
space on the Answer Sheet. There is also a different signal indicating the end of the
pause. When you hear this signal, you must get ready for what comes next from the
recording. You can check what you have written when the passage is read to you once
again without the pauses.

In the United States, people appear to be constantly on the move. (1)

. How often (2) moving vans on the road? (3)

. Are so many people actually (4) ? Yes,

people in the United States are indeed on the move. (5) ,
about one third of the population (6) . Every person who
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moves (7) for making such a decision. Some people
Some may wish (9)

may decide to move (8)
And some have many other reasons. (10)

, the amount of movement in this country is substantial.

2.3.2 HEA“NT BN (Spot Dictation)"HEH EEER
Spot Dictation

In the United States, people appear to be constantly on the move. (1) Think for a
moment/. How often (2)do you see/ moving vans on the road? (3)They seem to be
everywhere/. Are so many people actually (4)changing their addresses/? Yes, people
in the United States are indeed on the move. (5) Within any five year period/, about
one third of the population (6)change their place of residence/. Every person who
moves (7)has his or her own personal reasons/ for making such a decision. Some peo-
ple may decide to move (8)because of employment opportunities/. Some may wish (9)
to live in a warmer or a colder climate/. And some have many other reasons. (10)Re-

gardless of the specific causes/, the amount of movement in this country is substantial.

2.4 HEB"WEKX TS (Compound Dictation)” B iy & K

‘BHEAWE " RHE“THER"BLZ)E, ABERBIHAR:F—-BIRFEH
B, BERFEESHEPHEAFREE B _BIRER, BRFEREFTNEBHER,

EXR-RW 250 FWERKEX, HE=ZR, F—BELXWHE, BFEH, ERF4E
ERFEKESXAE, B RBEN, BRSNS ZERAEE, 15 ERARH
B B WA ZERERS e LS ERBHATIANAFTHEERRE . F=RAS—
W, WAL RE TR BN E D 15 28,

“‘HEANE BEZREENTNEND HERH GCECRAMBEREES.

“‘REANB"HAEX ST AR MR EEEH ERMMEE EXEAER, &%

B TF(RFRBHFRPAIHIE o
2.5“M &KW 5 (Compound Dictation)” #BRSEER

2.5.1"M &R 5 (Compound Dictation )" # &

nE—
Compound Dictation

Directions: In this section you will hear a passage three times. During the first reading,
you should listen carefully for a general idea of the whole passage. Then listen to the
passage again. When the first part of the passage is being read , you should fill in the
missing word during the pause at each blank . After listening to the second part of the
passage you are required to write down the main points according to what you have just
heard . Finally, when the passage is read the third time you can check what you have

written .
On the Giving of Gifts

When you wish to give someone a gift it is always good to (S1)




